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245204/|SC —-55A FAILEBR Ty kg ) 21,500 23,000

245205(SC —-55AK FLER TN —kiE EARE =) 24,500 27,000

245214[{SC ) -55A TRLUER Em7bny -k ) 28,000 31,000

245215|SCJ —-55AK FRLUBALEEI/IN KA el 31,000 34,000

245224[{SC -6 0A FILEM Ty ki ) 21,500 23,000

245225(SC -6 0AK FLER TN —kie EARE =) 24,500 27,000

245234[SCJ -6 0AK FHLUBHELEIN kAR ) 31,000 34,000

245235|SCJ —-60A TLER E@m7n -kig el 28,000 31,000

245244|SC -6 0WA Fi LB w7-7kig ) 50,000 55,000

245245|SC -6 0WAK FLBR wI-kit =4 ) 53,000 58,000

245252(SCJ -6 OWE TLER Emyer-kiz ] 56,000 62,000

245253|SCJ -6 O0WEK TLUEBR EmyT-7kie ZiaiA =) 59,000 65,000
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245101 |3z7kie & GEAR Bt Hokie & =) 6,000 7,000

2451028 A7kt KM6 6 GCN FEER BFER BREk =] 11,400 13,000

245106|7 > L/R—k#7 014 T2CN REER BTES 7 LN —kie =) 24,000 25,000

245113|'BA7Kle ESHA FEERMNTER Bt EakA =] 11,400 13,000

2451157 v LN —skie  FAHFE FEBANER EEE oA ) 24,000 25,000

245112|31kte & FEoHHA GEE AT REKEERSHA 5y 6,000 7,000
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& w4 g HhensBEl BITER HER
7010003| L=1200-1499 D90/100 ) 23,000 25,000
7010004| L=1500-1799 D90/100 =] 23,000 26,000
7010005/ L =1800-2000 D90/100 ) 23,000 27,000
7010006| L=1200-1499 D120/130/150 =] 25,000 28,000
7010007| L=1500-1799 D120/130/150 ) 25,000 29,000
7010008| L =1800-2000 D120/130/150 =] 25,000 30,000
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244200|7k80UHM 1200 X 18 ¥yFv & KU =] 8,500 9,500

244201|kEDUH 1200 X 28 YoV & KR el 16,500 18,000

244210|7k80YHM 1000 X 18 ¥yFv & KU =] 8,500 9,500

2442111780 WH 1000 X 2E& 97V & 7K UIHR =l 16,500 18,000

244220|7k8DV M 900 X 1 & ¥yFv & KU =] 8,000 9,000

2442217k 900 X 2 & 97V & 7K YR =l 15,500 17,000

244230|7kEDV 1 800 X 1 & ¥yFv & KU =] 8,000 9,000

244231|kEDV M 8 00 X 2B oy & kU ] 15,500 17,000

244240|7k8DV M 600 X 1B ¥yFv & KU =] 7,000 8,000

2442417k 600 X 2B Y97V 7K YR " 14,000 15,000




